

$$f(t) * \delta(t-t_0) = \int_{-\infty}^{\infty} f(\tau) \delta((t-t_0)-\tau) d\tau$$

$u = t - \tau + t_0$
 $u = t - t_0 - \tau$
 $\tau = t - t_0 - u$
 $du = -d\tau$

$$= - \int_{\infty}^{-\infty} f(t-t_0-u) \delta(u) du$$

$$= \int_{-\infty}^{\infty} f(t-t_0-u) \delta(u) du$$

$$= f(t-t_0)$$

$\int_{-\infty}^{\infty} f(t) \delta(t) dt = f(0)$
 $\int_{-\infty}^{\infty} f(t-t_0) \delta(t) dt = f(t_0)$
 $\int_{-\infty}^{\infty} f(u+t-t_0) \delta(u) du = f(t-t_0)$

21) $\delta(t) * \delta(t) = \int_{-\infty}^{\infty} \delta(\tau) \delta(t-\tau) d\tau = \delta(t)$

21) $\delta(t-t_0) * \delta(t) = \int_{-\infty}^{\infty} \delta(\tau) \delta(t-t_0-\tau) d\tau = \delta(t-t_0)$

21) $\delta(t-t_0) * \delta(t-t_1) = \int_{-\infty}^{\infty} \delta(\tau-t_1) \delta(t-t_1-\tau) d\tau = \int_{-\infty}^{\infty} \delta(u) \delta(t-t_1-u) du = \delta(t-t_1-t_1)$

21) $\frac{1}{t} * \delta(t-t_1) = \int_{-\infty}^{\infty} \frac{1}{\tau} \delta(t-t_1-\tau) d\tau = - \int_{-\infty}^{\infty} \frac{1}{-u+t-t_1} \delta(u) du = \int_{-\infty}^{\infty} \frac{1}{-u+t-t_1} \delta(u) du = \frac{1}{t-t_1}$

22) $f(t) * g(t) = \int_{-\infty}^{\infty} f(\tau) \frac{1}{a} \text{rect}\left(\frac{t-\tau}{a}\right) d\tau = \frac{1}{a} \int_{t-\frac{1}{2}a}^{t+\frac{1}{2}a} f(\tau) d\tau$

which is the definite of average

$\frac{t-\tau}{a} = \frac{1}{2}$

$t-\tau = \frac{1}{2}a$

$\tau = t - \frac{1}{2}a$

23) ~~$f(t) * g(t) = \int_{-\infty}^{\infty} \frac{1}{\sqrt{2\pi}a} e^{-\tau^2/2a^2} c d\tau =$~~

~~$\frac{c}{\sqrt{2\pi}a} \int_{-\infty}^{\infty} e^{-\tau^2/2a^2} d\tau$~~

~~$\int_{-\infty}^{\infty} e^{-\tau^2/2a^2} d\tau =$~~

$f(t) * g(t) = c \cdot \int_{-\infty}^{\infty} g(\tau) d\tau = c = \text{average if } \int_{-\infty}^{\infty} g(\tau) d\tau = 1$

= 1 if $g(\tau)$ is normalized

24) $\cos(\omega t) * (1/T_0) \text{rect}(t/T_0) = \frac{\sin(\omega T_0/2)}{\omega T_0/2} \cos(\omega t) = \text{sinc}(\omega T_0/2) \cos(\omega t)$

24) $\omega = 2\pi/T_0 \rightarrow \text{sinc}(\omega T_0/2) \cos(\omega t) = \text{sinc}(\pi) \cos\left(\frac{2\pi t}{T_0}\right) = \frac{\sin(\pi)}{\pi} \cos\left(\frac{2\pi t}{T_0}\right) = 0$ $\forall t \in \mathbb{Z} \cdot T_0 \neq 0$

24) $\int_{-\infty}^{\infty} \rightarrow \text{sinc}(\dots) = 1$

$\text{sinc}(\omega T_0/2) \cos(\omega t) = \cos(\omega t)$

$\cos(\omega t) * \delta(t) = \cos(\omega t)$

eq (2.43)

25) $f(t) * u(t) = \int_{-\infty}^{\infty} f(\tau) u(t-\tau) d\tau = \int_{-\infty}^{\infty} f(\tau) d\tau$

$t-\tau > 0 \rightarrow \tau < t$
 $\tau > t \rightarrow u(t-\tau) = 0$

26) $f(t) = \sum_{k=-\infty}^{\infty} g(t-kT_0)$

$g(t) * \delta_{T_0}(t) = \int_{-\infty}^{\infty} g(\tau) \left(\sum_{k=-\infty}^{\infty} \delta(t-kT_0-\tau) \right) d\tau = \sum_{k=-\infty}^{\infty} \int_{-\infty}^{\infty} g(\tau-kT_0-u) \delta(u) du =$

$\sum_{k=-\infty}^{\infty} g(t-kT_0) = f(t)$

